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E! Use the following statements to wrlte a compound statement for
g; ‘.{ 37
£ qV~P o
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A week has seven days, or there are 20 hours in a day.

A week has seven days.@there aren't 20 hours in a day.

C  |A week has seven days, and there are 20 hours in a day.

D A week hasn't seven days, anektherc are 20 hours in a day,

X

Write an eq‘patlon in slope-intercept form for each line described. r_;-'-?
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passes thmugh (=7,—4), perpeu&hcular toy = —x +9
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E Determine which statement follows logically from the given statements.
E (1) [T you do not get enough sleep, then youwﬂl—bﬁred .,'\?’j '
%! @) If youfw*ﬁﬁ then you will no‘fb ddfwell on the test. ¥ o
P '
gf_ A\ 7| There is no valid Lont,luﬁtiim & W

If you do not do well on the testy then you did not get’ ulough sleep.

Il‘ you do not get enough sleep, then you will not do will on the test.

If youare tired, then you will not get enough sleep.
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Determme the coordlnates of S( ~1,1) afterareﬂectlon n the line = 3
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Find the distance between the two parallel lines with the given equations.
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El Find the value of X.
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x =47,y =40 33—\:‘L\$
(/ x =28,y=47 M .
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Ei Determine which of the following coordinates would make AB and CD are
,,,] perpendlculei) ™, 7\ v, = =% Qm\\ )

W\\ M'l

” A(8,2),B(4, 1)@0’(3 11),D(2,9) |
| |A(14),B(5,5%€(9,=10),D(—6, -5
| A(4,2),B(3,1),€(6,0), D(10, 8)
A(8,-2), B(4,—1),C(3,11),D(-2,-9)
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A |Not Rotational Symmetry

B order =5 magnitude = 72°

Mrder =2 magnitude = 180°

D |order = none < magnitude = none
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t‘l Determme which postulate can be used to prove that the triangles are congruent according to

3, the information glven 3
.K| A > B8

£ Given: 4B 0D, £CBD = LADB e AL L0
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3 X 1 DN, c
o o D
A |SSS
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% C  |AAS
D ASA o~
Y >
Given: WY bisects £ZXWZ and £XYZ S
Determine which postulate can be used to prove thal
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COMPLETE THE PROOF :
Given: AB = CB, D:is the midpoint of AC , Prove: Af'-/l,BC = ACBD -‘-_,’-:"

solution: o §

Given: AB‘ Z CB, D is the midpoint ofAC n‘bq'
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Given
. Definition of midpoint

= YeHlen W @eoRen VS -
3 AABD = ACBD '\,9\ %5 S

(52) two-column proof, ; Ll i } =
Given: AB = ED, CA = CE, AC bisects BD 4 LW T
Prove: AABC = AEDC | - : o
_I\:I\_\-’l : v “ |2
_&1 EE; c NCY C oy .c.! | Given
S N\ s O . Definition of segment bisector
B o VEES Midpoint Theorem
AABC = AEDC B 355 .

Mr Tarek Ali -0562854282 17



r.

4. Line ¢ contains points (4,

& Haway,

# A N by L
2 @ . hitps:/iwww.mrmathtarekali.com! e 3 ¢ https:/fiwtsp.com/971562854262 o E|f_' 0]
M :;- 3
EI it i

3 4
3
s
4 i
LY » g
Scan me

and (4, 9). Paint P has coordinates (1, 6).

L, -2
“»

9‘-‘

https:/llinktr.ee/mrtarekali @

-

4

*

ARSI 1 sl e

151

O 11 A -*-;-:'c\ k\

¥*
‘c?:ﬁ
{)
e
X?;si?%
“Eﬁ

" Wtps:/itmelElite Roveal Math AllGrades

\ﬁr\ U\v&ﬂkw\é

\0

Mr Tarek Ali -0562854282

W\s \

18



